Ilworksheet02

“Aggie's Aglet” assignment—intersection of 2 lines (Solving a system of equations)

USE GOOD MATHEMATICAL FORM.  USE PENCIL.  BE NEAT AND COMPLETE. EXPLAIN CLEARLY.  DO YOUR BEST WORK.  Graph for the problem must be on same page as the problem (never hand in a solution where the parts of the solution “skip around”)

Due:  next class

A.   Aggie's Aglets has start up costs of $50 and then it costs 1 cent to produce each aglet.  Aggie's sells the aglets for 2 and 1/2 cents each.               (com)

1. Write the algebraic equations, graph the equations on graph paper and interpret their intersection (Hint: interpret specifically for this situation).

2. Explain what happens when Aggie's produces 2,000 aglets.  Answer completely, perhaps including calculations.

3. Explain what happens when Aggie's produces 6,000 aglets.  Answer completely, perhaps including calculations.

B.   Line 1 is perpendicular to   Y  =  -2/3 X  - 2   and  has the same y-intercept 

as the line which passes through (2,  3/2)   and  (-8,  4)

Line 2  is parallel to the line passing through (3,  1) and  (-2,  8)  and has the same x-intercept as   Y  =  -2X  +  2

i. Find the equation for each line in Slope Intercept form

ii. Graph the two lines (use graph paper)

iii. Solve the system of equations (that is, find the point of intersection), using substitution (check your board notes for good form)

iv. Do a LS/RS check for each equation

v. Write a word equation for each algebraic equation

